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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name : Transmission and Distribution of Electrical Power

Subject Code : 2TE04TDE1
Semester : 4 Date : 22/04/2019

Time : 02:30 To 05:30

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch: Diploma (Electrical)

Marks : 70

a)

b)

d)

f)

Attempt the following questions:

To Find Fault Location Is ................ In An Outdoor Sub-Station Than In

Indoor Sub-Station.
A. Harder
B. Easier
C. Faster
D. None Of The Above

The chances of corona are maximum during .......cc.cccceeeenn.

A. summer heat
B. winter
C. dry weather
D. humid weather.
The effect of ice deposition on conductor is
A. increased skin effect
B. reduced corona losses
C. increased weight
D. reduced sag.
Between two supports, due to sag the conductor takes the form of
A. catenary
B. triangle
C. ellipse
D. semi-circle.
Corona effect can be detected by.......................
A. hissing sound
B. faint luminous flow of bluish color
C. presence of ozone detected by odor
D. all of the above.
Boosters are basically...............
A. inductors
B. capacitors
C. transformers

Pagel || 6

(14)



9)

h)

)

K)

D. synchronous motors.
Which of the following is usually not the generating voltage ?
A. 6.6 kV
B. 9.9kV
C. 11kv
D. 13.2kV.
The neutral wire is coloured ................... .
A. black
B. green
C. red
D. blue
750 kVistermedas..................
A. Medium high voltage
B. High voltage
C. Extra high voltage
D. Ultra high voltage
By which of the following systems electric power may be transmitted ?
A. Overhead system
B. Underground system
C. Both (a) and (b)
D. None of the above

The underground system cannot be operated above..............

A.440 V
B.11 kV
C.33kVv
D. 66 kV
Underground Sub-Stations Are Generally Located In.................
A. Villages
B. Thickly Populated Areas,
C. Both (A) And (B)
D. None Of The Above
string efficiency can be improved by .............
A. using longer cross arms
B. guarding insulator
C. using guard ring
D. any of above
The single phase supply voltage for residential customers is ...................
A. 110V
B. 210V
C. 230V
D. 400 V

Attempt any four questions from Q-2 to Q-8

Q-2
A
B

Q-3

Attempt all questions
Compare AC and DC Transmission system.

Write down Properties and types of Line support

Attempt all questions
Explain parameters of transmission line.
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A 132 kV transmission line has the following data : Wt. of conductor =
680 kg/km Length of span = 260 m Ultimate strength = 3100 kg ; Safety
factor = 2 Calculate the height above ground at which the conductor
should be supported. Ground clearance required is 10 metres.

Attempt all questions
State the difference types of insulators and explain them in detail. (any two)

Explain skin effect and Ferranti effect with appropriate diagram.

Attempt all questions
Give the difference between Primary and secondary distribution system.

Explain the methods of feeding secondary distributors.

Attempt all questions
Explain Pi (I]) Method of Medium Transmission line.

Draw and explain h type cable, SL type cable & HSL type cable.

Attempt all questions

In a 33 kV over head line, there are three units in the string of insulator.
If the capacitance between each insulator pin and earth is 11 % of self
insulator, find (i) the distribution of voltage over 3 insulators and (ii)
string efficiency.

Give the requirement of underground cables and explain general construction of
cable.

Attempt all questions
What is substation? Compare Indoor and Outdoor Substation.
List and explain equipment used in substation.(any 7)
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b)

d)
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Attempt the following questions:

WIG2SIR UG-t 5cll BoSlR AGL- AL ML Sl WUl A

A. solal
B. AR
C. »sul
D

GURell 518 oldl

ARl Wl ay st glertMalet ey 9 B?

A. 675 kV
B. 765 kV
C. 132kV
D. 440 kV

oR% oll U Hal Yl clles U ol AUr...............

E. R¥el 8%s2Hl ctlRA

F. t2lSlall SRlell aslatsll
G.dUR det

H. Q9L oll yalsl

A YW oll AR 505522 oll AdL ol S1RAL..............

E. RAlds
F. (s

G. (¢t ada
H. ud ada.

A dles r AwAlcnl €35 R d &A B AR , A dRA Ul of

YHIRHL 32 Sl &

(A) log. (DIr)
(B) loge (/D)
(C) Uloge (DIr)
E. (D) Vloge (r/D).

o A YAOQd................. R
A. 8552
B. 3U[Re
C. 2leutgli
D. Risetx WAl
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9)

h)

)

K)

ol Aol B AHIRA A2l %1230l cc2o?

E. 6.6 kV
F. 9.9kV
G. 11kV

H. 13.2 kV.

AR ARUR ... ol B
E. sla
F. dlat
G. Al
H. aeall
sl 750 kv 33 JautatHl 2 &
A Hl3au s18 Ay
B. &l8 dlee
C. WsUL 6l8 AR¥
D. AL 6l8 A%
ol Aol Hiell 58 ReH gl BASES WaR of dgel 53 aAslaA?
A BAREs Rireu
B. oS UGS
C. olal (a) Al (b)
D. GuR Ml 818 «1dl
eplel Ren ..., GUR AAA 531 astcl atell

AlHLRL A WSVUGS - W Rd B

A. dUHSIRA

B. ccllatou (QrctL

C. ola\ (a) A (b)

D. GuR Ml 818 518 a8l

ot AlBAlaiall................ alRL Jul3l asia B
A, dioll sl w ol Heeel
B. olS ucussoll vee ol
c. ou§ Rat ol Heeell
D. GURell 88 o8l
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n) YRR Jesla Rl 3o Yol AR................. R

E. 110V
F. 210V
G. 230V
H. 400V

Attempt any four questions from Q-2 to Q-8

Q-2

Q-6

Q-8

Attempt all questions
AU A Sl aletPatet RreH ol ARuuHell 53

ALBel AW eatl 2Ll Aol YsiA cull

Attempt all questions
2led[R2let clltototl URHIGN UHsA.

132 3cll glot@alet cteetMl o[l Al 32t B: §552 of et = 680 (5.0 / (5.4 ,
Aol dotteS = 260 Ml wedlNe disid = 3100 (BouL; A2 ¥se= 2 wlotell QWS
ol GURell oLl 5 ¥ Boll UR cllesar 251 vUUA AN, %33 AULBos (AU 10
e ®.

Attempt all questions
WELYEL USIRall Wellss oll olld vl ([Qoldallr UHAA(SE ULl Q).

@8t WU ol 3ol UAR AU uitsld WA Al

Attempt all questions
yla@s v HitaMs [@QcrQl cacral dA dsteld wl.

AR Bloje: 12 Sl3001 ugldull Axesndl

Attempt all questions
HIRRAH 2lotPalel Algel W2 W ( [T) usld amestal.

VA YSIR S0, WABA USIR S ol WUAWAUBA USIR S0 ERL UMl

Attempt all questions
33 3cfl AR &5 Al Ui, BorAzell REowHL 2QL s B. %l YASs 8exyAer Mot

U W A of FUREU Aol A BorYA2R oll SURSY ol 1% sl , A (i)3
BoJA2R UR Ale@%q] (ARl el (i) @Eol AlH{liell 0.
eolel ol 3RaAld WU WA SUA of AHLA HUsIH AHAA

Attempt all questions
BoSlR USIR2 UKAoL UR BB2S\R USIR oll Ao 2ot UMM 53

Ut HL GUAIHL Acllcl Attall ofl ALEL olollall Wl - (S 8)
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